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GENERAL MATHEMATICS 0
F

Full Marksv: 90
Pass Marks : 27

Time : 3 hours

Candidates shall note that each question will be
maultilingual, viz., in English | Assamese / Bengali /
Bodo / Hindi medium, for their ready reference. In case of
any discrepancy or confusion in the medium /[ version,
the English version will be considered as

the authentic version.

The figures in the margin indicate full marks for the questions.
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SECTION—A / F—141 / 3—41 / T—argrm / sh—H0T

Choose the correct answer :

@‘amaﬁiﬁﬁ@:

T TED ([RS8 Eik &
73 fiareh s R i
el IW gAY :

1. The value of y in the blank space of the following table is
oY SIfeRPIREE 1A 31T yF T 2’

eox SRR = y-<7 T I
TR Hee wiet S y A s PQ :
= 1 aifcrent & @ieht TH y 1 9 g

x 1 2 4 8
3 32 16 8 yee!

(A) 8 ’ B) 6

(©) 4 | /my\

2. Which of the following is not g perfect square?
o (Ol A5/ =W 2

' eva TG 5074 7T 2 : ?%
Tt =TS wt SR FE? Ol E
feferfad # & FR-H o Ge 18 3 \/
(A) 441 . /
QR (D) 729
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3. If m is the cube root of n, then the value of n is 1
3 AW m, n 3 TE W, (O@ nJ Y+ 3’9
MM m, n-9< Y49 2, O2H pn-9qq A+ 23

A\

: /
e m, 0 RIS, st p e S
i m, n N FHA B, A 1 FH FE AT )
(&) Vm ®) ¥m X #
3 2
m (D) m

4. Given that the LCM of 306 and 657 is 22338. What is the LCM of
102, 306 and 6572 1
o =CE (¥, 306 BIF 6573 @58, 22338, afed 102, 306 I 6574
F.8. 242

ey =R @ 306 9 657-97 7.8, 22338. 102 306 @32 657-99
#.8. B 2@?

2@ < T2 306 R 657 f1 g.eman. & 22338. aEan 102, 306 AR
657 T 3.3 AT H SMA? '

306 31X 657 &1 LCM 22338 & 319 102, 306 3 657 #1 LCM arm

(A) 102 (B) 22338 oL e o
(C) 22338x3 (D) 22338 x102 8
5. Given two statements : - ' 1

Statement (i) : The square'of any positive odd integer 2k +11is
always 1 more than a multiple of 8.

Statement (ii) : The square of any positive odd integer 2k +1is
always 1 more than a multiple of 4.

@tﬁ@ﬁmw
s () : S A R 2k +1 W Tof S 81 gfroets
1@ |
S (i) ; T S RIS 2k+1w 3of SR 437 STl
1@kl

b % crow R - “‘ |
e () ;g U R 2k +1-67 35f S 8-aw gfew (W
1 & | )
5 (i) g WA R 2k +1-aq 35f T 4-99 @fres (@@
1 @M
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At gt e o T SO 2k +1 R e S 8 f
ER (1):%1W|
3 (i) ;TS A Bl 2 SRS R
s 1 i E‘%ﬁ
2 o Ry d iy
Em(i):mﬁwgﬁmZkﬂwaﬁ%ﬁwS%Wﬁl'ﬁw

B |
For (i) ;e PR I 2 + 11 < FAM 4 5 T W 1 A
ul
Choose the correct alternative.
% Rewh ik e |
7 RPel (@R 8 |
T ETiE g gl
Tl fowea g
(A) Both (i) and (i) are true A
(1) I (i) 7RI 37y
@) @R () R g
(i) W (i) Aat o SR
(i) 3R (ii) 3 geq § S
(B) () is true but (i) ig false
(i) 371 2 (ii) Wy
(1) 3197 72 (ii) wprgy
(1) 11 R Ty (55) g
() 73 & W (35 am;T
(©) () is false bug g . \/
() %70 B i)y
(i) =PTey fm (ii) gy
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(D) Both (i) and (i) are false
(1) S (i) YQOR wprey
() @R (ii) 762 Sprey
(i) 3R (ii) N @
(i) 3R (i) 31 3oy &
Under what condition will px3 —i—qx2 +rx+s=0 be a cubic
equation?
0f» 0]
ﬁsmpx3+qx2+rx+s:0u‘lﬁwwcffa7 ;%
[OEES, ¢
8 pa + gx? + re 4+ s = 0 b fare SR 242
IR px + gx? + rx + s = 0 371 WA T GHFEATS ST
o8 ¥4 R pad 4 g2 + rx + s = 0 T Bam FHfe Bm?

(A) p, g, r and s are all non-zero
P, q, r S s CACORER S0
P, g, r GR s TGRS
P, q, r 3R s MES TG’ TS

P, q, r 3R s Bt I B

(B) p=0and g=0 :
p=09<Fqg=0

p=04dRqg=0

p=0 3 qg=0 ﬁ

p=03Rg=0

(C) p=0org=0
p=03qg=0

p=0dqg=0 ' #E%
p=0Taig=0 OpEs Y
p=03uag=0

M¢O

B24-GM/102A [ Contd.



(8 )

nomial 8963 -1

7. When x is real number, the graph of the cubic poly

% x AR Sieay =, (o 8x S —1fare FRoCOA (EACOICA
’JﬁxWﬂiﬂﬂm,WSx3~lﬁN@3‘iﬁWﬁﬁ @4o

IR x 20 mﬁmw,WSﬂ-lmﬁamrﬁaﬁa‘ma‘ﬂm
o 1 T e e A, A e g 8a” ~ 11 A

(A) does not intersect the x-axis

x-TFF (W A

X-STHCD (0 I A %
x-TR TEE! T A
X378 S Wrerede el AT 8
(B) intersects the x-éxis at exactly one point
-7 T b1 RerR (= T |
x-SPHCS qa G0 R (@1 T '
xR e AR e T
x-318 ) Haet T forg W & wirees Rl ©
(C) intersects the x-axis at two distinct pointé : 5
x-7H% Wbl (A0 9™ (”% I
x-ores it o8 e =7 <
x-f% Tt W I T farena < A
-8 1 A -3 Frgal | wRrds el ¥
)?’(i?ltersects the x-axis at three distinct points
o TR o R e
x-wre ot fom fRrze v aq
x-Tf% TETE I T T faryara A
-8 0 8 - g e s e &

B24-GM/102A
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8 If the pair of linear equations alx+3y+ c;=0 and

4x + boy+ cg =0 has a unique solution, then 1
I® ajx+3y+c; =0 = dx +boy+c3 =0 PR AIRR o1 SfEeH
SN AT, (T3 :

T agx +3y+c1 =0 GR dx + byy+cg =0 B GA IR G A R
S ACF, OIRCET

Sk ax+3y+¢1=0 IR 4x+ bgy+cg=0 AU A A TG
TEGATE TR, e

IR agx+3y+c; =0 3K 4x + boy +cg =0 WaH FHIHT JH T TH
Fda e ?, @ :

(A) a; =3, by=4 E%Eli (B) a3 =12, bg =1
1

: L
(C) a;=4, by =3 = (D) a; =5, by =1

9. The coordinates of any point on the x-axis are 1
2o eoe 4] R I R TARE XS /
x-S0 BT AR (@ Al T TS =0 |
x-Tf& @ FrEE A srafasman fs= aafifem s
x-318 T Fopet ot fareg 3 for Fdwiss &M
(48, (x, 0) B) (0, y)

10. The sum of the Zzeroes of the

quad t1 ial
plx)=4x2 -1 is ratic polynomia 1
TS q27H p(x)=4x2—lﬁ‘ﬁmﬁf’$ﬁcmm§,q‘ ;E%
re qeem p(x) = a2 — 197 ISP Qlonga o A

S fograrira p ) = 42— 1T IR e
ﬁmﬁgﬁp(x)=4x2~1%wmmm

AA) -1 W
(€) 2 (D) 4 /

B24-GM/102A i
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11. The common difference of the AP ﬁ’ \/g’ «/I8, \/'3_5 o5

V2, /8, 18, /32 a2 AU BE
V2, /8, V18, /32 e aisfefba e A<l
V2, /8, V18, /32 wrgf sy STIER i
TR 3 2, 8, VI8, /32 F W 3T g
(A) greater than the common difference of the AP 2, 4, 6, 8
2, 4, 6, 8 SET. A5SOR [ HTIOLF TIEF
2, 4, 6, 8 SN A5 AR 1T (ACF IL
2, 4, 6, 8 FAG ST ATER BrRFTTIRRgs SR
FHRR A 2, 4, 6, 8 F WE A=< F =T
yqual to the common difference of the AP /32, v18, V8
: 32, 18, /8 S A5ISCH SR SFIT A S
32, V18, /8 19 &sifefa Hame M1l e S
V32, V18, /8 T St SR RSt ae
AR 4G /32, V18, /8 % W 3R H SR
(C) equal to the common difference of the AP V50, V98, V162
7(] V50, /98, 162 I =sfeChr = Vg o T
/50, @,Jw_zwzfﬂﬁ»ﬁammmnwwmm
V50, J@,Jw‘zmsﬁnﬁuﬁmmﬁ%ﬁm
AR A V50, 98, V162 F T 3R ¥ s

(D) greater than the common difference of the AP i 0 ;1
W ! — vaks V2
7 0, = TR 209 SR SEqets Tl

1 =]
i 0, Ewizmﬁ'm SR N2 (AT I

1 -1
e O,Emwﬂlﬁwﬂwwﬁﬁqs%@q

1 i
m’}‘sﬁﬁ, O,E%ﬁmﬁwﬁa@
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12. If the base of a triangle is increased by 10% and the altitude is
decreased by 10%, then the new area of the triangle
<01 faged 3R 10% ik iy 25 e TS 10% ZP 91 29, offers
fagecor Tom
<30 faecea SR 10% v rem =g @3¢ TS 10% M1 F41 =@,
oIk faeeitn Tou crage
HITE ST TTaTe 109 siem s AR SemEe! 10% TR e
ST, STsAT AT Mem gsarsiy

T (S 1 MUR 10% w1 e ok =8 10%qaa‘1ﬂ'§lﬁgaamw
émm

: O[O0 ’
%nams the same "%:25 (B) decreases by 1%

5 CreaRiIE| : -X) 1% 2P 23
Q\ IR AR 1% M A1

\C @ 9rE , 1% @9EH

AR T 1% w2 S@
(C) increases by 10% - (D) increases by 11%

10% 3f63 - 11% 3ft 4
10% A% | 11% 3rogq -
10% =PTH ErE 11% sim=
10% =g ST@m %‘ 11% =7 s

13. The point R divides the line segment AB, it A - AB.
The ratio in which R divides AB is
R R0 AB @147 ST S IR s 4 3
1%l 9] SPTeCh! 23 .
R 5 AB caar4sfocd &W—MWWAR
AB & ©p5 4 \Wn"ﬁ 2@
R 31 AB @ sy @re 1 THETRET S

AB"O;‘{IIRdlAB
“ZABNIR“QQ

—AB S|

B24-GM/102A
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14. P(—1,0) is the centre of a circle and Q(2, 4) is a point on this circle.

Three other points on this circle are

P(~1,0) <51 989 % ® Q(2,4) TR ¢S <ol 7 | JGH[A 87
21 o fefbT AR *'T
P(—1,0) <35 Jceq (FT &R Q(2,4)§@ﬁ‘,?l%m G R 1 3eba Torca

P(—1,0) 9ra @At i R Q(2, 4) 3 SEAF qEE aFE AAE fa=i|

S T IHE g R SRR S

P(-1,0) i su i+ 2 MM Q(2,4) 3 0 | @ @& fog 21 9
o d o= fog 21

(i) (=6, 0)

(1) (-1, 5)

(iii) (8, —3)

(iv) (0, —5) | EIKE
Choose the correct alternative. é‘%
% fPmee AR St |
w7 el @ e |
e wiftE e A g |
wel fosheg gfag)
(A) Any three of the aboye
&R R @ fofihy
AR (T I o
ST A @ i

B24-GM/102A “58
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M (ii1) and (iv) only
1@ (i), (i) = (iv)
@ (i), (i) 3% (iv) 74
(i), (iil) 3 (iv) A’
Fad (1), (1ii) 3 (v)
(C) (1), (1) and (iii) only
T (1), (i) W= (iii)
@ (), (i) @R (ii)
(i), (i) 3R (iii) 37’
Faa (i), (1) R (iii) 0< :
(D) (1), (iii) and (iv) only
@ (1), (iii) I (iv)
@ (1), ({ii) @R (iv)
(i), (i) 3 (iv) 3T’
Faa (), (i) 3R Gv)

15. ¢ longest chord of a circle is called 1
36T SRS WL SO (Pl 2

3053 S o1 Wifvee A
Sty g et e S S
amﬁaaﬁa’dhﬁmaﬁmm%
(A) radius (B) arc
eI B <
e Bl%f
qaE e
ERl M

Weter (D) major arc
m T By
o / RIS
Y Eis] T

B24-GM/102A ool
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1
5 he value of 5|x% ——
16. If 5x = sech and ;:tano, then the value o { 2

x?2 —i]a T2 EEKEE
x? Ej

-3 T T

T 5x=sec()“\'>ﬂ$—5—=tan0'@, @8 5
x

5 ‘T§C515x2—i
T 5x = sech IR ;ztane %y, © 2

1
9 5x:sec()3<’|rﬁ§=tanesmﬁ, 3scTl 5[x2——2—]ﬁqmwﬁ=r

X

p 4

1
'p HﬁSx:secOaﬂ'{-s—:taneﬁ,Fﬁ5 x2———2—]$17ﬂ7{ ull
x
/

(A) 5/\ e (B) %

C) 0 OfH0] D)y —1
R g

17. If the length of the tangent drawn from a point @ to a circle is

4 cm and the distance of @ from the centre of the circle is 25 cm,
then the radius of the circle is 1

Q R K1 b1 983 =*MITER t7eff 24 cm WF JTOR @FHA A Q v
7R% 25 cm 277 O0OR IR 2’7

Q Y (AT @3 08T =omfizm treh 24 em @2 IS @ (AT Q R
7% 25 em X0 IO TRIY 267

Q i A e R A iz TrER AT 24 cm S AR
frefsers Q T ST 25 om <riveen, St @@ SR

Q o ¥ ™ 70 i Ty LR -
25cm%|§?{3ﬁﬁmyﬁm€ﬂﬁ§ﬁ Z G @n Qﬁ%ﬁ@

Wm (B) 12 cm

(C) 15 cm e

B24-GM/102A .
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18. If two cubes each of volume 64 ¢m?® are joined end to end, then the

surface area of the resulting cuboid is

ATOIFT 64 cm3 W‘R’Wﬁﬁ? @1 15 41 3’7 | (12’3
I I oA RN
SRS YFOR 1 27

et 64 cm3wmﬁwmmmmﬂmﬂwmlwm
7Q RIH PO CFaqFe 3]

mmamaeummmmwmmm
ST, ST AR SRR 7t farg asemsioan s

a‘taﬁ,mwmm cm3%|aﬁﬁqﬁaﬁ@‘{ﬂiawﬁmm,
a1 afomt =T 1 g dewe B

(-]
(A) 160 cm?2 Egﬁ! (B) 176 cm2
Eﬁk >
( 2 cm?2

(C) 128 cm? (D19 em <4

19. If the median of the data 25, 30, x + 30, 35+x, 40 4 x arranged in
increasing order is 35, then the value of x is 1

bR wuAfe 25, 30, x+30, 35+, 40 + x5 Ty 35 A,
EZRIC I

- OIPTYR 25, 30, x+30, 35+ x, 40 4 x g 471 35 2,
x-99 99 23

mmmmmﬁ@ﬁﬁﬁm%mwxﬁww
25, 30, x +30, 35+ x, 40 + »

4 w2 25, 30, x+30, 854 5. 40+ x 3 wre 35 21

1 HH B El%‘g

(A) 35 B B

(C) 25 2 M) 19 /
B24-GM/102A =
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20. The probability of get.ting a prime number greater than 2 in a
single throw of a die 18

1 ol TR TR Z9P TS TP FA (o1 et 27

G el R §eT TR0 2-99 (0 I (e A1 AR TRy
X

T e g garEdE 2 Fge SfE e st gty s |
ST

T T ) U AR A W 2 A T TS T U B ) ik gt

‘ 1

A) 1 / ®) -

-

A ‘7/

21. If the area of a trapezium is 1350 m?2 and the sum of the lengths of

its parallel sides is three times the height, then the height of the
trapezium is 1

<1 G 1 1350 m2 Wi 2@ SEAE MCERA T AR THeR
fefaa 2'c, Twer 2’5

3> TR Cvawal 1350 m2 «aq @9 SWEAE REEE e TR
W%ﬂ@qmmm

(®)

| N

ﬁ?ﬁ?ﬁﬁmqﬁmgﬁmmsomz I Af fom srEfEeRi aramh

@mmmmmsomz%lwﬁﬁmgmﬁwm

= 10
(A) 20 m (B) 10 m ;ﬂ {‘
2
(C) 60 m %30 of
A
B24-GM/102A [ Contd.
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22. The smallest perfect Square number which 18 divisible by 4, 9 and
10 1s

4, 9 W 1003 239 3R 1 wibfeatas 57 4efasf AW 2T
4, 9 @R 10 TN 191 71 T 1 Rz =0H A RO 2

4, 9 I loﬁwmaaﬁggggﬁnaq@aﬁmﬁmmw
4, 9 3R 10 ¥ % G B 1 ey 2

. :
(A) 144 (B) 900 (C),~3600 (D) 360 Q&

23. If the sum of the zeroes of i) = kx28x+6 is 4, then the value
of k is

T fx)=kx? —8x + 63 X 5B 4 T, (93 £ T 27
T f(x):kx2—8x+6—uﬂ?lmm4?&,Wk-aa:ﬂ:{m

IR fx) = kx? —8x+6 T @@ To@TRT 4 S, st 2 B oW
SFTH

M fx) = kx? — 8+ 6 IR FATHA 4 8, R & %7 7 2
®

(A) 6 )Ba)/S € 2 (D) 1 ’i

24. If a quadratic polynomie?l has two different zeroes, then the
number of points in which the graph of the oo oy
intersect the x-axis 18

a1 fare o AR DA T TR o e

s @ 91 R
gmmwﬂwﬁﬁ’ﬂﬂm@%x-%mw%ﬁm

SA N T R fageil W
(B) 3 )
M (D) 4
B24-GM/102A W o
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25. Which of the following equations is a linear equation in one
variable?

O il SRR D1 @B By Cafip e 2
s req SR @D G oS Al TRt 2
WWWW&WMWWE@WWW?
ﬁw%%amuﬁﬁﬁ@mamﬁmmaﬁq-m%?

(A) 2x =3y (B) 'x 255y ms g

(C) 3x+y=0 / 3+T7=8-2
-3

26. The pair of equations kx + 2 Yy=5and3x+y =1 will have a unique
solution if

27. The number of Troots of ¢

=x"—4ig
(x+2)3 =23 _4 x
; %“Wﬂwni’
(=208 = 48 g
(x+2)% = 43 "R S e o
el ‘4W%ﬁaﬁmwm
(x+2)3 = x8 4 <
T ) s gy
(A) 3 B)
(C) 4
B24-GM/1024 Sk,
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Which of the following equations has two real and equal roots?
S (IO AR Y51 I W S ot SR ?

Teoa R AR 4% 059 e St o1 0= ?

TR W FHAE WY 3 e e e 47

frafefaa ¥ ¥ foFa qefeon 3 3 arafis s a9 70 &7

(A) 3x2+14x—5:0 (B) 4x2+2x_1:0

o ,

le:() e (D) x2—5x+4y

29.

In an AP, the first term and last term are 1 and 11 respectively. If
the sum of the terms in the AP is 36, then the number of terms is

@B FAEE 2ofeq 2N WF N o @ 1 9 11, I SRS afefect
AT CITFE 36 2, (908 o YN A

G FEA 2efeq 299 @R CF W T 1 @R 11. 3 e 2efefa
omefer IRFe 36 T, rECA AT RN 2T

T A st il s S R w1 e 11, gf et
Sy FreEad T 36 S, Al ety sHfvmmn e

T 1 % wom v A T T 1SN 11 %) s 3 3% e vd
\/ﬁ@?ﬁ%,?ﬁ@aqﬁﬁmm

(5545
W% ® ¢ gy N D) 12

30.

9

B24-GM/102A

42 is a term of which of the following arithmetje pProgressions?

42 FLICH] o1 gy T 2 L

42 Sy Feva R 21 R

42 sy ey T T ST A
P & o e A T < 42 e

(A) 92, 86, 80, .- P02, 95, g

(C) 2’ 67 10’ Sd 3 8’ 16’ e (\

1

[ Contd.
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S1. Yna AAEOY M| BURINAS = 4BX and YC =2 cm, then the value
of AY is

AABCS XY ||BC. AB = 4BX W% YC =2 cm 2, (208 AV T
23

AABCTS XY ||BC. W AB= 4BX «3 YC =2 cm 2, Oz AY-99
T =23

AABC 3@ XY||Bc.§%AB=4BX3nﬂYC:2cmH@, =l AY
HET ST

AABC ﬁ,XY||Bc%|aﬁAB=4BXaﬁzYC=2cm%,a‘rAYmrm

-E?Fn /
(A) 4 cm y cm
(C) 5 cm ; 7 (D) 8 cm / ,

32. If CM and RN are respectively the medians of AABC and APQR
and if AABC ~ APQR, then which of the following is correct? 1

i CM W% RN T AABC W APQRI T |, =¥
AABC ~ APQR 3, (%3 &3 (L1 8 ?

% CM R RN @® AABC @@ APQR- Tl =, GR
AABC ~ APQR 2, Oz Riopq o wa 97

CM 30 RN wiy aapc =@l APQRR Twn sl o
AABC ~ APQR S®\, 3recy ard A7

AAMC ~
)/ APNR (B) AAMC ~APRN

O (D) AAMC ~ARNP

GM/102A >
B24’- l (.‘()”“{'
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33. The coordinates of the point A, where AB is a diameter of the circle
whose centre is (2, —3) and B is (1, 4), are 1
<1 999 TP AB. R TR (2, —3) WF BI EAE (1, 4) T AT
ECISES
3 J0ed AP AB. (@CHA TAD (2, —3) 9R B-ad ¥R (1, 4) 2
A-99 FHRS T

A SRl @ AB. el aEfy fraen (2, —3) sm B R emaf far
(1, 4) smEEen A 1 aEf femrn s

AB%@QHWW%IQHWW%W@,—B)WB%@W%W
(1, 4) 21 A fag =1 Frdzmes &

- 2 =@.70 2, 8)
&) [5, 2] 5%‘ Yy
(2204
(©) 3, -10) (D) (-2, 3) Q&

0

34. The ratio in which the point (—4, 6) divides the line segment

joining the points A (-6, 10) and B(3, —8) internally is !

(—4, 6) fmoa A(—6, 10) < B(3, —8) A @GS swee 1
2TSCh] 2

(—4, 6) fafb A(-6 10) @& B3, —8) A @G TEE 41
SEpPTefb ZCel

6,10 B G, SRR R T Y
TR T AT S ¢ .

(4, 6) g A (6, 10V °F B(3, —8) 3 wrfl Yarae 1 fr s
faufsra wem? "

O
(B) 2:3 3 i
(A) 3:2 [P

(C) 7:2 M7 /

B24-GM/102A [ Contd.
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35. If sinA = c0s33°, A <90°, then the value of A is
T sin A = c0s33°, A < 90° 34, (308 AT T+ 24
T sin A = c0s33°, A < 90° =, T3(F A-49 I+ 23
IR sin A = c0s33°, A <90° 9T, 3= A f W AT
M sin A = c0s33° 3 A <90° 8, @ A % AH BN

(A) 90° Qi) (B) 33°
() 27 hed: N
36. If atanf=x, bcot® =y, then the value of xy is 1

If% gtand = x, beotb =y =, (OB xyI T 27

W atan® = x, bcot® = y 2, ORR(H 2y -9 I 2(d
TT\Iﬁa‘can():x, bcot9=y€ﬂ'€ﬁ, 3TscT xy T AT SR
Ife atan® = x, beoth =y &, A xy T AH &M

(A) a+b \/B’? —1
© 1 Ry aB /
\
37. If tangents PA and PB drawn from a point P to a circle with

centre O are inclined to each other at an angle of 80° then the
value of ZPOA is 1

fi @bl &% PRI O (F%qE b1 389 PA W& PB “PIRITOIA *7~°_
80° (FITS 2fe1 ACF, (S@ LPOAT T 27

ofy @3fo P-a7 (W3 0 @uye @I 81 PA R PB ~pfeaf
A9 80° (T YT AT, ©r2ge] L POA -9 T+ 203

gfe @78 a1 P fgm O fig iy et PA 3T PB Aifie wia dn
ESE 80° THI WY, 3@y LPOA i w1 ST

afe O F498 T8 W P fig @ ofieft 18 @) wui-w@d PA 3l PB 80°
amaﬁ%,aMPOAmqﬁa ) B e
(A) 600 E E 500
£L) 70° )\/m:gﬁ‘ Vm)/\
E& (D) 80°
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38. The degree measure of the angle at the centre of a circle of
radius 7 is 0. The length of an arc of the sector is

r PR 90 0 @em @ty RE et 0. EFADA GO BT Ol
R

r EEN JE S feam @i R sam 0. d@R JEE Seert
AR ST

%ﬁﬁw%%@%%%waﬁmsﬁ%ﬁme%lm%ﬂmﬁm

Ay R e
90 £ 180°
Onr

Onr %
(©) 270° D) 360° /

39. The number of tangents drawn through a point inside a circle is
759 fowqe 49 4 GBR TCEA DR 2R1 =2 31 2
353 Toerg AR @M e T4 T DTS IR =opfearg S122m1 2geny
F faem g fa AFEE TSRS 99 TR i = RE st
EIEIR!
T 3 skt Toret formg el IR A TG ) v

5 (B) 1 L6) 2 @) 3

40. If the circumference of 2 circle is 22 cm, thtﬂl"ﬂﬁa of a

1

quadrant of the circle is 1

Wﬂﬁmm22cmﬂ,mwmﬁmmwiﬁ
nﬁwﬁwﬂﬁﬁ%cm“’mmwwiﬁmmm
3 R ey a2 0m T, S Sy e
AT ST s
s e g o oy 22 em & T 3 T Ry e

' 7
(A) 77 cm?2 ;E%@E' v o ot 1@

E’I

' (D) 77
x().IBZ cm2 4 cm 2
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41. The volume and surface area of a sphere are equal. The diameter of
the sphere 1is
B (ST S S P S | COER TP 24

a3 cwwaaw@mawwmmwm
ﬁﬁg@ﬁmmﬁqﬁwfwwqqﬁmwﬁa
2f el TR 1 ST 2R gEE ARl SR €, 1 e S @

(A) 3 units Mmits

3 9T Of0 6 9T
3 TR \/:vﬂuﬁ
3 3T 6 313
(C) 2 units (D) 4 uni
2 GFT 4 G
2 G 4 G
2 | - 4TER
2 3HTS 4 3HTE

42. The ratio of the volume of a cone and a cylinder having same
radius and height is 1

Gz APTY T 9T THORE GBI *1F HF G0l PR ARG SAo(TS 24

T2 TP R TR THOE G MF GR I @K TS oA
£76

@ W AR T A A A ey A A E
i SEY REGRECERS Bl

e e 3R IE A U v A e SeH 6 AEH B ST A
(A) V3:1 '3 ?%E‘li
(C)1:2 (D) 3/ OPEAS )
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43. If the difference of median and mode is 24, then the difference of
mean and median ig 1

T SF T A 24, erm g e qegA AL 29
T @R IECFY AL 24, S15F Ty @32 J4E 214 20T
TR ST SR AR e 24, syeen oy A A BT S

afe frefl Tehel & e sk wgers w ot 24 B, A1 A S AT H AR
Al

(A) 10 (B) 12 @mym () 14 (D) 13 p

N

44. A number is selected from the first 100 natural numbers. The
probability that the number is divisible by 8 is 1
22 100 1 FOfed AR 491 @B SR @R 2A | RYTe! 83 ey
ERR FEife 2'H
99 100 5 FeRe 201 (ACF GFio TR (e 2@ | A 8 ficy frersy
2EF Aol 22!
fify B9 100 faferm sARmIHEE A4 AN THE 8@ | sHimE 8 S
TSI S ST

Teefl 100 Wi TEne § @ FE O T T R W Tem F 8 ¥ wed
& 2

3 8 (o) !
2 B) o g+
Pl 25 WEE. a0 ) 1%

28 B s

45. Which of the following cannot bo.the Pl‘Obability of an event?

SR RTCET B W TSIl 23 TR 2

SNevm D e <o T X A 2

ey A A sy S T

Frforfian & & - el T TR R e

(A) 0.225 (B) 06 e o) 1
3

B24-GM/102A —— g
oNnrcl.



( 24 )

SECTION—B / 2—¥1 / 4—>1<l / @—argnn / @ —9a7T

46. Factorise : 4x% +1 2
e [owe 41 : 4 41
TeAmee R I ;4 +1

fogafit R : 4x® 41
THEEd i : 4?41
I

47, Two ropes are of lengths 64 cm and 80 cm. Both are to be cut into
pieces of equal length. What should be the maximum length of the
pieces? 2
O 4% (T @Cd 64 cm WF 80 cm. FTAITER [T TN O b 1

TfeRR =TS | SRFCl €3 GRS ISR IR #[1 I Sfewm »[1 o
bR e o 7 2792

i AR 07 @ 64 em @92 80 em. 46 (XCF TH T G @B (@
FACS 2@ | 16 I (AP (B @R FA1 G2 FIAR ST oy e 3¢9 2

an @l @ w64 cm AW 80 em. AR THR @RARR gEn
m’mﬁyqﬁusé@wmamﬁ%ﬁ%ﬁmm’mﬁgﬁgmémﬁ
A aRYTE A9

64cmﬁ(800mmma@ﬁﬁmmwgﬂﬁﬁaﬂ2ﬁﬂ%
AT @ == 7 T2 | I Zhel i gattus = fhal 2rft?

48. If /B and ZQ are acute angles of right angled triangles ABC and
PQR such that sinB = sin@), then prove that /B — Q. )

nﬁwﬁﬁwwcprRaZszqu@@mwﬁ )
sinB = sinQ, (S8 21 341 1 /B = /Q.

i HCH fags ABC a3t PQR-aR /B % £Q PHCA T @ e
2 (@ sinB = sinQ, @34 U I @ LB = £Q.
gﬁmwmﬁamwcmp@ﬁwmmwﬁnm@’m
@Y sinB = SinQ, 3T&eT HRAE @™ fe /B = Q.

o LB M LQ A 7w A & oM sinB=sinQ, N Wiy e
i sin sin q o
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49. In APQR, right angled at Q, PQ = 3 cm and PR = 6 em. Determine
/QPR and ZPRQ.

APQR3 Q GFTH1 90°. ¥fi PQ — 3 cm W% PR =6 cm, (53 QPR
¥ /PRQ g 341 |

APQR-<3 @ ¥°f6 90°. 1fi PQ = 3 cm @< PR =6 cm, SR LQPE
32 /PRQ [efa ¥t | By
&t

APQR T Q@ wamn 90°. g PQ =3 cm M PR=6 cm, 3= ZQPR
9 /PRQ T ‘

APQR 1 Qm%laﬁPQ=3cm3ﬂTPR=6cm§,ﬁéQPR?A"R
/PRQ 31 Hifse |

oy
(48]

50. Two dice, one blue and one grey, ALS thrOVf’n at the same time.
Write down all the possible outcomes. What is the probability that
the sum of the two numbers appearing on the top of the dice is 13?

9Bl e S aﬁifiaw‘ih?ﬂ@ﬁ AP A feq 297 | syepcen swwr
W%ﬁuq@@ﬁiﬁf@@mmwmmm’@'ﬁ@ﬁ“ﬂ?

ﬁﬁ%«gﬂﬁiﬁ““ﬁﬂwmm“"mmmnm@f?{

3%
wwwmlﬁ@ﬁﬁmw TR o S s 13
2GY[ TS| T ?

o T My
@ e s T e T A
ﬁmﬁmm@f%mﬁmmmwmw
A sgvaATaT S

ST | Y i) e
ST e v 13

- A - ‘R'
?m?—«:ﬁﬁ?@?nﬁgﬁﬁm 13 1), Ty O Ffy
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51. Solve the following pair of equations by reducing them to a pair of
. Solve the 1ollo

linear equations

o eet R AT e T A T
quwmmqmwmmmmaw:

(a2 _ 5 8xl0 15
xy xy

3

52. Find two consecutive odd positive integers, the sum of whose
squares is 290. 3

75! iR SRA QAR @ IR Tferen T 397 Qe 290.

b T YA MRS SIS A ({7 AN I A0 @t 290.

A BIR TR o0 W i) fagd, STt sier @@ 290.
3 0 FAIT fawm e quits frefery, s = 1 A 200 A

53. A sum of 1,000 is invested at 8% simple interest per year.

Calculate the interegt at the end of each year. Do these interests

form an AP ?If 50, find the interest at the end of 30 years making
use of this fact,

1,000 3 3= 89 i
R 29, ﬁwﬁ’lm‘mwﬁﬁmﬂWim oS I2F TS O

< T <R ofRieprcz Bl STIEA 29 o T 2 T
100:21@ RS 30 T v e A e 0 |
ﬁ%?‘@miﬁﬂ%mmmﬁﬁmﬂwmm@«mm
aft 3, a%wmm'mﬁﬁﬁmwﬁ @l T 2efS a1 e 2
a8 W.WBOWWWW‘TT‘:?*IWI

) ml :
AR A Gy g 2000 T Bropeiei | AR AW S I
30%%@%®Wmm?qﬁm,%mw
1,000 ®¥9u
mﬁﬁ“mﬁ%Wmamﬁ%ﬂmwmw%m
T 30 T 3y g Gy s AP ¥ R 7 s A

L e —_—— E LR
B24-GM/102A
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54. Prove that if one angle of » triangle is equal to one angle of

the other triangle and the sides including these angles are
proportional, then the two triangles are similar.

o A1 (T GOt fapea @b et o By frgea b1 (@I A 2 I
G2 (FICIRD! 0 TN AR S =, Cocs fargs 701 7 |

a1 A @ ;M @3 fpeem @l @ o gofh fagren @l @R
T T GR O @ESRR 9 T el Wt 2, oren fage 1
T |

uﬁ@ﬁgam@ﬁﬂ%@ﬁmﬁga%@aﬁw%wéaﬂzwaﬁvﬁ
ﬁmmw@qﬁaﬁ,ﬁmw&aﬁﬁgﬁw%l

55. Two opposite vertices of a square are (-1, 2) and (3, 2). Find the
coordinates of other two vertices.

b1 Bofwar Refire MR T T (1 2 W (3, 2, TR ARy PR
IS Tfere |

s Aoty Refie AR 10 T (-1 2) AR @, 2). A ARy o
BT (A9 A1 |

Ay =11 gserzi Ay e ffaf RIBI (—1, 2) 3T (3, 2). TEH WA
fufafs ey sty e 17!

maﬁ%@,ww% e (—1, 2) 3 (8, 2) §) I Ayt *
Fréwne sra ifsre
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56. Two tangents TP and 7@ are drawn to a circle with centre O from
t T. Prove that ZPTQ = 2,/0P@. 3

an external poin
Rse Ry 77 A1 O @ T8 TP AF TQ qurm =opfs b1 271 | 21
¥ @ LPTQ = 2/0PQ.
few R T -7 (CF O FEW 08 TP = TQ Wit =pfs Bl 20711 | 217
@ @ LPTQ = 2/0PQ.

Ty =1 7 fiwm 0 ik T s@ARm TP s 7Q 31 =ifse gr@l aFE
WaE | BEE @am § ZPTQ = 2/0PQ.

T fag T8 O %31 39 | TP 3R TQ 3 wyi-w@d = 7§ | yHifora
Fifsm % ZPTQ = 2/0PQ ¥\

57. The cost of fencing a circular field at the rate of ¥ 24 per metre is
¥ 5,280. The field is to be ploughed at the rate of & 0-50 per m2.

Find the cost of ploughing the field.

2fe FoR® 24 591 2w @e o AEd (@ IS 5,280 B9 @R

2 | AR 24fe 35BRe 0-50 Fe1 zRe T AR AT | AYRER 2+ @l
2@y fefg 241 |

ofe FOCT 24 om0 20q waf qarem (@ A VO @O ewm s

5,280 51 <=5 W1 (qefy o 50 Bl
; 35ffGIca 0-50 E T IS
(4efba 21 AR <15 ety 2 | G

m@%@mﬁﬁmmmmw%ﬂészsoﬁmm

EATE! HHEH
A il’fﬁzmqo.mq@gmwmmlqﬁmmw

gﬁllﬁam24maﬁg(amw@aﬁ?ﬂﬁ3ﬁ1mmmgﬂ
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58. In a solid cylinder of height 12 ¢m and radius 5 cm, 8 conical hole is
ma.de. If the height and radius of the cone are same as that of the
cylinder, then find the tota] surface area of the remaining solid. 3

12 cm TSI W 5 om GRIRATE @i (o S Bl E T AT

b1 TSR 91 27 | I *iegehm Tl W ApT (@EADR FATS AP 2,
CSTE SRMB (SN0 TEOR el Shrea |

12 cm THO G 5 cm IPIERAE G 1 (@A MG AFOA G0 TS
TeuR 9 2 | A e el qae P @ 0 IR W, SR
TRIME *1E IR PR CFaFe (39 I |

12 cm SR IR 5 om W@ T AR T TGS WA ey AT T
T’ SEE| IR SEEA DA S @ g T S, el A=
T T ST T forg s fogd |

12 cm = 3R 5 cm B0 96 TF 39 AW A TP AHA F T TRE
mw]qﬁﬁ@ﬁmﬁﬁwaﬁ?%m%,ﬁwwww
pricEErLre iR E ]

59. Find the median of the following data which give the marks out of
50, obtained by 100 students in a test : .

Marks Obtained 20|29 (28 (33|42 (38|43 |95
Number of Students| 6 |28 | 24|15 2 {4, 1 | 20

wors T e 50 T foOTe ¢ 100 =g oy .51 wey fiicw |

25

20

s e wfeebee 100“'/"_@50 i %m""@mﬁﬁﬁcﬁ@’ﬁ?lvam
o) zrage | Al Al A

33 | 4

1% 391 T - 2188 |43 | o5
24 7}“5‘ 2 4

RICqq A v 1 | 20
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mwwquﬁnmammmowmﬁm%zﬁ
e 2 o | T 9 ¢

i
28 20 | 29 | 28 | 33 | 42 | 38 | 43 | 25

wE | 6 (28 |24 (15| 2 | 4 | 1 | 20

ffiftaa siet & 50 TR % Th <R H 100 BHE F Ww F= gwic M )
e T FI :

g T 20129 | 28 | 33 | 42 | 38 | 43 | 25

BT # GEAT G282 24 .15 | -2 1 1 | 20

60. Draw a triangle ABC with sides BC = 7 cm, /B = 45°, /A = 105°.
Then construct a triangle whose sides are g times the

corresponding sides of AABC.

BC:7CH’1, ZB=450’4A:105OH@ABC L{]%]%Y@W'Wﬁ%

ﬁﬁwwm‘fmﬁmmwﬂwgml

BC = 7cm, /B — 450

» LA = 105° e @3 fay® ABC (% | SRoR
@?’ﬁ;ﬁ%%m

T=asfy AABC -7 Seh] Irzafe™ % 29 |

AO= T B gt ZA = 105° sy ABC R I@ifaeam anf|
aﬁmAABCﬁ

3

w s Ape .
mwﬁ‘ﬁw “ﬁw&BC=7cm, /B = 45°, ZfZ=105° IRED
T AABC i wm s 2
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show
61. If o, B are the zeroes of the polynomial x24bx+6 gaen

that % is a zero of the polynomial ox 27 (B2 =2C) THRL:

W x2+bx+c IPMOR ol = o, B 7y, (9@ @mysa
cx2—(bz—2c)x+cﬂ§ﬂmaﬁ?ﬂﬁl%

% xZ4brtc TTEDT P T oo B W TRA e A
cxz—(b2—2c)x+c?1"iﬁﬁﬁ?l~ﬂ??\3‘ﬁl%.

3 x2 + bx + ¢ FETEEIEIR W AR o, 3 ST, el BIAH Wi
1 cxz—(b2—2c)x+cﬁalﬁ1ﬁaiﬁﬁqﬁﬁﬁ§1@’w %.

ﬁx2+bx+cﬁﬁ%ﬁwa,ga,aa?%
cx2—-(b2—2c)x+ca§‘ﬁaﬂ@w%€m|

* * *



